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QUESTION 1

Two virtual machines that belong to the same virtual network are not able to communicate with each other. Which
statement is true in this scenario? 

A. A floating IP address is assigned to the virtual machine. 

B. Images used to spawn the two virtual machines have different flavors. 

C. A security group is blocking the communication. 

D. The two virtual machines are in different availability zones. 

Correct Answer: C 

 

QUESTION 2

To retrieve attributes of a new virtual machine, with which Contrail component does the OpenStack Nova agent
communicate to create a virtual network? 

A. Neutron 

B. Glance 

C. Analytics 

D. Control 

Correct Answer: A 

 

QUESTION 3

What are two advantages of SDN? (Choose two.) 

A. centralized management 

B. decentralized management 

C. programmability 

D. static networking 

Correct Answer: AC 

 

QUESTION 4

Which network type is created in Neutron and mapped to physical networks? 

A. transient 
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B. tenant 

C. provider 

D. management 

Correct Answer: C 

 

QUESTION 5

Which two statements about SDN and NFV are true? (Choose two.) 

A. NFV separates network control and forwarding functions and provides a centralized view of the network. 

B. SDN decouples network services from hardware appliances so they can run in software. 

C. SDN separates network control and forwarding functions and provides a centralized view of the network. 

D. NFV decouples network services from hardware appliances so they can run in software. 

Correct Answer: CD 

Reference: https://www.sdxcentral.com/networking/nfv/definitions/whats-network-functions-virtualizationnfv/ 
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